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Maximum Likelihood _Estcma,foys (M LE$>

Another natural oy to ealirote om
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Exercise 1) Check <thod Hae oabove value o P

does ~deed moximse P) over LO, 1]

2) Check Hhat ‘%) coimncidos with Yo MoM eslimater
/RQ,W\-QYsz
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EXQMP(Q : 5U\PPOSQ/‘ XXy, , Xn ave ol
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Does the MLE aPPmO‘CJ& extend +o
contiomuerss vandom variables ?

It does , but we can no Qﬂnﬁ@v ecjuo»'fe,
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{LOe, howwe e ﬂocj,mkcmci Pmci\,m\.

ﬂ (‘x‘:f”) %n; F}G_z)
~ i =
= B (aved) - Z 0 Ep
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Exomm]’)LQ (cont.)
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Deginibion = We say that a summany
statislic , e, « ‘f.umc,'t\:mb Stx= 195)
G? He dato , s a Susan ooy stalislic |
LJL He Rkelihrood .fac:i‘onse/s oA

. L(—x““_) Xn 5 ' = JC(SSG)'E(KH“‘JX"LBS)

. woerds . “{’L»L A aton Xy 5 Ay Ore
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vs. MoME | th cose Huse one cb‘-ﬁm't) .

Bobhr bias ¥ mse do dLP-E/aol o Yo
\/OLLOL'E. 89. ~the Un K neroin Pla\_vaaME‘t'bv e 5
omd en n , the amount &y dofo. avorleble .

Feor ony “501:0&“ eslimater , both bios
and mse  shenld %&Z@ to O on n—>c0

j)e_j: N Ar\, G,A'ts.motjrw é © Vb C,OJL’&C&
L ta A %
covs blent qu” 2] conver g +o ©

o Pm'bq\ol')ck’j as W= 0O, €., E]f
¥ £€>0. P(10-8[>€) DD e n=2 oo

A dujffciwf condbillon > -,—e/ wMZof%og,
to O: Cs N o0



